ey geEgH — 1

fogg — wrfora (100)
Subject — Maths
DI — Al
Class — 10%
9 — 3 g9 quries — 100
Time — 3 hours M.M. - 100

(1) PeT@eiex FINT B AR el 2|

(1) use of calculator is not permitted

@ 9= % 1 H O wue g Tvs (@) ¥ 95 e yed wre(@) # Rad wme
@ gff T wvs (W) H 6 /N g Y B y¥e W 1 37 Inefed 2

(2) Question No. 1 has three parts. In Part (A) multiple choice questions in part
(B) fill in the blanks and in Part(C) Write true/false are given each question
carries 1 mark.

(3) WeT . 2 W 6 TP T MGG YA 8| WD W 2 3P A& fed ¢

(3) Question No. 2 to 6 an very short answer type question. Fach question carry
2 marks .

(4) 939 % 7 ¥ 10 Th ETIRT T | YWD T W 3 P IEfd T

(4) Question No. 7 to 10 an very short answer type question. Each question carry
3 marks .

(B) WeT % 11 ¥ 14 TF TSR WeH T YIS W & NaRes RAeew )
TS W W 4 3D e T

(5) Question No. 11 to 14 an short answer type question. Each question has an
internal choice . Each question carry 4 marks .

6) 937 3 15 ¥ 16 Tb USRI Y99 T | ISP Y9 b AdRe fabeq T
e WET WX 5 31 Iefed 2

(6) Question No. 11 to 14 an long answer type question. Fach question has an
intemal choice . Each question carry 5 marks .

(7) 937 % 17 ¥ 18 Tb VUSRI YIF T YIP YIH B AdRe fabem T
e WET R 6 3T ST T

(5) Question No. 17 to 18 an long answer type question. Fach question has an
intemal choice . Each question carry 6 marks .



g (3) / Part (A)

ged (1) 91 fwed gax farlay —
Choose and write the currect option

(1) 9 —x? &1 IYIH BN —

@) 3,3 ()3, —3

&) —3, —3 ) 37 W P =

The zeros of 9 — x? will be

(@) 3, 3 (b) 3, —3

(c) -3, —3 (d) None of these

(2) T TP 2x2 + x — 6 = 0 P fAFTHT B

(31) 49 @) —7

() 6 () —6

Discriminant of Quadratic Equation 2x? + x — 6 = 0 will be
(a) 49 (b) —7

(c) & d) -6

(3) farg (2, —6) T aqter & fRerd g —

(37) wer CIRENIE!

(%) T () =g

Point (2 , -6) lies in which quadrant :

(a) First (b) Second

(c) Third (d) Fourth

(4) sinf x cosecd® BT TF BT —

(31) 1 @) —

(&) o ®) 2

Value of sinf X cosecf will be

(@) 1 (b) -1

) 0 d) 2

(5) I & &7 ¥oile WA &1 O YO I8 &1 A BRI —
(?7) 36 T T () 216 o T

(7 & a¥f T (g) 200 T T,

If side of a cube 1s 6¢cm. then value of whole surface will be
(a) 36 sq.cm (b) 216 sq.cm

(c) 6 sq.cm (d) 200 sq.cm



gus (q) / Part (B)
g © (1) R et &) gfit Sifore—

Fill in the blanks

(1) o< & g THHIN BT e yia=odl Y@ 8 & I GHeN Fhr B
............. g1 BIT 2 |

(1) If the graph of a pair of linear equations in two variables is represented by two
intersecting line then the pair of equationshas ................ Solutions.

(2) SMTAY RMNT T ys Afdd G IT BYHT BT U Ugar e & o &
o e T |

(2) The Identification number provided by income tax department to a
Society/Organization or company is knownas .....................

(3) TS IGIT D TIT BT B T

(3) Corresponding angles of similar polygonare ..............

(@) f5E ga~R 9N ST ndr 9g BIaT 2|

(4) The n*™ terms of an Arithmetic progressionis ....................

(5) g1 & AT TS ofaT BT 2|

(5) The Longestchardina circleis ................

Tog (d) / Part (C)

gee (1) 9 /3 fafay —
Write true or false
(1) 71 fag & e (0, 0) BT £
(1) The coordinate of origin is (0 , 0)
(2) sin (90° — @) &7 A tanf BT 2|
(2) The value of sin(90° — ) is tan®
(3) T fovH TR & T BT I Fag FH BT & |
(3) The sum of squar of two odd number is always even.
(4) T A A g9 & P TR FHM BV ARG PRAT € |
(4) Two equal chards in a circle subtend equal angle at the centre.
(5) afe =arat @Y AT B AL R W fFA IR @ T H R A T F
ST o) forar o 2

(5) If the interest is calculated semi annually , then the annual rate should be taken

two times and time should be doubled.
g9 © (2) x2 — 16 FT WIS BIVTQ —
Factories x? — 16
ged 1 (3) 7, 3 AT 21 BT AGATURIT ST HIFATY —
Find the fourth proportional of 7 , 3 and 21



"3

(@) R A (23) T B (27) @1 faam gl @1 @ mafig @ Fdve o«
DHINSTT |
Find the coordinate of mid point of line joinning the points A (2,3) and B(2,7)

. (8) A =TT BT —

sec70° s5in59°

cosec20° cos31°

Find the value of :

sec70° sins9°

cosec20° cos31°

- (6) T TF UIHd WEATS BT ARG T HIfTY —

Find the mean of first ten natural numbers.

- (7) TR SO 24,21,18 . @ fas ugl &1 anT 78 ¥

How many terms of the arithmetic progression 24,21,18 ...... of sum 1s 78 ?

- (8) IR T AT B IR P URM 88 W R HAE 10 I | A IIH B

T ST DISTY —
If the Circumference of the base of a cylinder i1s 88 ¢m. Then find the volume of
the cylinder.

- (o) T HIRvTT & faww r &1 o vy T 8 2|

Prove that square of on odd number is an odd number

:(10)@@3%%3#@%‘5@1%—%:3 @ T ST DI —

Find the Roots of quadratic equation 10x — i = 3 by factorization method

(1) v BT SAE G BN IR SEDT T 550 T THIL T SEBT AT 10

7 8|
Find the height of the cone if its volume is 550 c¢m?® and its diameter is 10 cm.
Jerdr /OR
14 ¥ @ qret 3k el &1 Wyt gss quT Tee sa Bifo —

Find the total surface and volume of the hemi sphere of having diameter 14 cm.

- (12) =1 ARO @1 ARG HT ST DI —

T 0—10 10—20 20—30 30—40 40—50
SIEIS] 4 10 15 8 3
Find the median of the following data
Class 0—10 10—20 20—30 30—40 40—50
Frequency 4 10 15 8 3
arerar /OR
=T TRl | Iged T DI —
T 0—10 10—20 20—30 30—40 40—50

SIGIS| 4 5 16 12 3




Find the mode of the following data

Class

0—10

10—20

20—30

30—40

40—50

Frequency

4

5

16

12

3

g% - (13) ol favg ¥ Slex S arell 99 WRel Y@l B Yaurar S1d S i g (2,3)
¥ ) Bl ol g
Find the slope of the line which passes through the onigin and also passes through
the point (2,3) .
Herar /OR

Y a1 = Rer e fomg @ Mdwie sma difvie ot fowgen (5—2) 9 34) &
HIGRRY T |

Find the coordinator of the point which is on Y-axis and which is equidistance
from points (5,-2) and (3,4)

g% © (14) IfE S FAEY Brel § 9xAABC &1 &5 = 16x APQR &1 &5hel & Fﬁ%

BT A S BT |
AB
If in two similar triangle 9x Area of AABC = 16xAPQR then find the value of 70

3111 /OR

fRig PIRY B 7o T Bt # Ho7 &1 9 A9 <7 ot & 9l 3 I B
RER BT © |
Prove that in a rnight angle triangle the square of the hypotenuse 1s equal to the
sum of the square of the other two sides

g3 - (15) ARaeT 7 Th 9 H 3 9 B foW 250%. UfaHE BT TP Mt ST W1 @il
a1 5% a1 =TeT B &% ¥ I 9@ NI fhaT If¥r g gnfY|

Akhil opens a recurring deposit account in a bank for three year and depositing Rs.

250 monthly. Then how much money will be get if the nate of interest 1s 5% per
annum ?

3erar /OR
Hed 7 93 7 50000 %, 1 a9 B fog F@ oA @ A o By afe s B
R 10% 8 @ Jo7 <1 g B0 A1) 91% wAfora fhar siar € o |99 fhan
R wT g
Mohan deposited Rs 50000 for 1 year in a fixed deposit account in bank. If the
rate of interest 1s 10% annually and interest 1s compounded every six month ,
then find the how much money will the bank give mohan on maturity




9% © (16) AABC & uRR¥Fad g @t wa=1 Hifoe o BC = 79+ ZB =45° 97 AB =
559 81w B e ) ferfay —

Construct a circum circle 1n a triangle ABC in which BC =7 cm , Z/B = 45° and
AB = 5.5cm. Write steps of construction also.
311 /OR

& gt PQR 99158 =™ QR = 6 ¥, PQ = 5% 3R ZPQR = 60° & |
. ap_ 2
=9 B3t & W e U Prjst ABC s+isd R AB = - PQ ®|
Drow a triangle PQR 1n which QR =6 cm , PQ =5 cm , and ZPQR = 60° Drow a
triangle ABC similar to triangle PQR , in which AB = %PQ
g © (17) FEBROT BT BA BT

41x — 17y =99
17x —41y =75
Solve the equations
41x — 17y =99
17x —41y =75
3erar /OR
Ife ab::e:d B @ fRag g 5 —
a’-c? _ ac
b2—d?  bd
If a:b :: c:d then prove that
a’-c? _ ac
b2—d2  bd
e © (18) IR LA, /B I ZC B3 ABC & 3fa &1 8 o g @i &

. (B+C A
sSin (—) = C0S—
2 2

If ZA, ZB and ZC and the interial angle of AABC then prove that sin (B—;C) =
A
cos =
2
et /OR
1.4 HIeX 9T TP U8 U AR ¥ 256 HieX B 9 R 8| SHPT i@ o
AR & RRER &1 I=199 D07 45° & | AR & SaTE T BHIFOTT |
An observe 1.4 meter tall is 25.6 meter a way from a tower. The angle of

clevation of the top of the tower from his eges 1s 45° what 1s the height of the
tower.



gree YIS — 11

fogg — wrfora (100)
Subject — Maths
DI — Al
Class — 10%
9 — 3 g9 quiis — 75
Time — 3 hours MM. - 75

(1) PeT@eiey FINT B AR e 2|

(1) use of calculator is not permitted

@ 9= % 1 H O we &) Tvs (@) ¥ 98 e yed wve(@) # Red wme
@ gt T wvs (W) H UG /N g Y B | y¥e W 1 31 Tefed B

(2) Question No. 1 has three parts. In Part (A) multiple choice questions in part
(B) fill in the blanks and in Part(C) Write true/false are given each question
carries 1 mark.

(3) WeT . 2 W 6 TP T AYSIIT Y7 8| TP W 2 P A& fed ¢

(3) Question No. 2 to 6 an very short answer type question. Fach question carry
2 marks .

(4) 929 % 7 | 10 TS AHSTUT YeF 8| TS W W 3 3 T g

(4) Question No. 7 to 10 an very short answer type question. Each question carry
3 marks .

(B) WeT % 11 ¥ 14 TF TSI W T YIS W & MaRes RAeew B
TS W W 4 3D e T

(5) Question No. 11 to 14 an short answer type question. Each question has an
internal choice . Each question carry 4 marks .

6) 937 3 15 ¥ 16 Tb USRI Y99 T | YAP WIH b AdRd fabeq T
e WET WX 5 31 Iefed B

(6) Question No. 11 to 14 an long answer type question. Fach question has an
intemal choice . Each question carry 5 marks .

(7) 937 H 17 ¥ 18 Tb VUSRI YIT T YIP WIH B AdRd fabem T
e WET R 6 3T Iefed T

(5) Question No. 17 to 18 an long answer type question. Fach question has an
intemal choice . Each question carry 6 marks .



gug (31) / Part (A)
g3 © (1) W fddeq gaex ferey —

Q. (1) Choose and write the currect option

(1) erefga &1 BT BT 2|

(31) 90° () 30° (|) e0° (g) 180°
Angle of semicircle become
(a) 90° (b) 30° (c) 80° (d) 180°
(2) oot T fBeor 3x2 4+ 2x+7 =0 B HaAl BT INTHA T |
7 —2 7 —2
@) 3 ® < G & —
Sum of roots in a quadratic equation 3x%+ 2x+ 7 =0is
7 —2 7 —2
(@) 3 b) © 3 @) —
(3) 989 x%2 + 5x + 6 BT OGS T —
@) x+2) (xtl) @) (x+2) (x+4) &) @+l (x+t3) @) (x+2) (x+3)
Factor of polynomial x2 4+ 5x + 6 is
@ x+2) (xtl)  (b) (x+2) (x+4) ©) &t x+t3) (@) (x+2) (x+3)
(@) 1+ tan?45° &1 a9 & —
(@) sin?45° (@) cos?45° () sec?45° (©) cosec?45°
Value of 1 + tan?45°is
(@) sin?45° (b) cos?45° () sec?45° ) cosec?45°
(5) o faxfig of 8T & —
(@) 1 SR I 31 foosR I () 1 TS A 30 S qB
(@) 1 T A 31 A dB (©) 1 7% ¥ 30 WA TB
A financial year become
(a) 1% January to 31 December (b) 1% July to 30 June
(c) 1* April to 31 Amrch (d) 1% may to 30 April

g (9) / Part (B)

9o - (1) Sfaa wey Sifey

Q. (1) Match the following

(i) ¥Rl &1 y =x H ¥@T BT glel B8FT | (i) 12
(1) Slope of line in the straight line y = x will be
(i) & TTHT B & &Fmen @ AT W goren @ o | (i) 15
@ T H BT T |

(1) The ratio of the areas of two similar triangles is to the
ratio of their corresponding sides

(iii) 20 3R 10 BT AR AT BT | (iil) T
(111) The arithmetic mean of 20 and 10 will be equal

(iv) afe B=30° 8 dr tan’ &1 A1 8N (iv) 1




(iv) if 0=30° then the value of tan’0 will be
) T =T &7 et e @ e ' ©

(v) The number of space diagonals of the cuboid is

W =

gvg (¥) / Part (C)
g% © (1) R wmet o) gfit Sifome—
Q. (1) Fill in the blanks

(1) TR X2 =9 A BT AT oo BT |

(1) Ifx? =9 thenvalueof xwillbe ...............

(2) <7 ST B g FEART T |

(2) Comparison between two ratio issaidtobe .....................
@ wRgas s . BT T

(3) The coordinate of originis ..............

(4) T BT TRH SADBT oo T AT BT

(4) Diameter of circle will be double of its ....................

(5) JMaciy ST @Al & TS DY TOFT o BT B |

(5) Inrecuring deposits calculation of interestis ..................
9o - (2) 9898 2y° +4y2+3y+1 B y+1 ¥ AF G HEHA [d ANEBS TId
BT |
Find the quotient and remainder on dividing 2y* + 4y? +3y +1 byy + 1
7% : (3) AT 29 TRIDHI &T g 783 ®. € a1 2214 & # fHol g fFend ?
If the cost of 29 books 1s Rs. 783 then how many books can be purchased in Rs.
2214
g% - (4) 7ot fag q=n A5 (2, 0) @ 9= @Y 2 w1 @ifeg |
Find the distance between point (2,0) and origin
ge : (5) AF T BIY —
5in63°c0s27° + c0s63°sin27°
Find the value of —
sin63°c0s27° + c0s63°sin27°
e (6) HIRIDHT ST DI —
25,21 ,23,18, 20, 23, 24
Q. (6) Find the median 25, 21, 23, 18, 20, 23, 24
799 - (7) V3 + 1 3R V3 — 1 &1 TR 91 5 BT —
Find the arithmetic mean of V3 + 1and v3 — 1
7T © (8) UH 35 WX HITS dTel W) H 11 T [ MMAl & SR BT O 5T Hifory |
(1 & = 1000 B9 TH)
11 liter juice 1s filled 1n a cylindrical vessal of light 35 cm. Find the diameter of the
jar.
(1 Liter = 1000 Cubic cm.)




7% : (9) fog RN & 5= ft 9 P w9 SRenett BT AT EHRI 6 T[T BT | |

Prove that the sum os them successive ever integers 1s always multiple of 6.

7% : (10) 98 RO TexeT ST IR s g (2+V7) T (2 -V7) B
Find the quadratic equation whose roots are (2 ++7 ) and (2 —+7)

- (11) e welt & g @Y T BT

Eil 0—10 10—20 20—30 30—40 40—50 50—60

g 5 8 16 10 7 4
Find the mean from the following table

Class 0—10 10—20 20—30 30—40 40—50 50—60

Frequency 5 8 16 10 7 4

F¥ar /OR

=T TR | IgeF B TOMT BT —

Eill 0—10 10—20 20—30 30—40 40—50 50—60

SIELSH 6 11 21 23 14 5

Calculate the mode from the following table

Class 0—10 10—20 20—30 30—40 40—50 50—60

Frequency 11 21 23 5

g (12)a‘rTh?ﬁE%34Taﬁﬂ”rzﬁTarjcn?r64

27%|WWW$T@§WW

BT |

The ratio between the valume of two sphere 1s 64 : 24 then find their ratio between
surface area.

derar /OR

Ife TP ST BT ST 3080 T T AR SHAE 20 THL T A e FH B
TAT Ish IS ST DHITSTY |
Find the radius and curved surface of a cylinder whose volume is 3080 cabic cm
and height 20 ¢cm

g ¢ (13) & TE BT H OP = 13 991 T g9 @ o 5 W 21 g P9 a0 W
ST T8 e ¢ PT g PS &1 &= 91 S |

P‘<l£,>

S

In the given diagram OP = 13 cm and radius of a circle is 5¢cm . tangent drown
from the point P find the length of the tangent line PT and PS.

P

b



Ferar /OR

I o1y fafay e Rrg @ifo —
State and prove the thales Theorem

g - (14) afe S fAegett P2, -3) 3R Qx, -7) @& 9/ @1 g& 5 21 @ x & A9 M
DITY —
Find the value of x, 1if distance between two points P(2, -3) and Q(x, -7) 1s 5.

3erqr /OR

TP URIR # 5 <18 dh IUANT S T @l & 9= feenum™ & fAeareh &
) T 2| TS Td SUINT fHY MU O B 7E B S 3Ry G|

kSIS 1 2 3 4 5
wrsl &1 AT (b, 1 2 3 4 5
I7 H)

The table below shows the questions of onions consum (in kg) over 5 weaks by a
family. Draw a graph between and quantity of onion consumed

week 1 2 3 4 5
Quentity of onion 1 2 3 4 5
(in Kg)

g% © (15) AABC & ufRera ga 1 == iferg /e BC = 63971, £ZB = 50° 3R £C =
70° T @ g Y fafEg —
Construct a circumscribe is a triangle ABC in which BC = 6 ¢cm , /B = 50° and

ZC =70° Write steps of construction also.
3erar /OR

& et PQR w9153 i QR = 6 w1, PQ =5 &9 = LPQR = 60° T
=9 B @ 9T @ B3 ABC s91gd R AB = 2/5 PQ.

Draw a triangle PQR in which QR = 6cm , PQ = 5 ¢cm and ZPQR = 60° . Draw a
triangle ABC similar to triangle PQR in which AB = 2/5 PQ.

999 (16) U gfdd Qi SFT Wi | 4% Tifie = B X W 2 98 b I 100000
% frder axar & o uRugaar @ g B ol yra gnf ok s affe
HAISTT & 2|

A person deposited i a fixed deposit schemeat the rate of 4% annually for Rs.
100000 for 2 year Then how much mony will be get on maturity if intrest 1s
calculated annually.

3rerar /OR

Raet = T& 9% H 300%. U AE BT R W 2 9§ B fry Smerdt ST w@rar @e
I T BT TR 5% 1w B A1 2 99 915 W ey iy wrer g |

Akhil deposited Rs. 300 Rs. Per month for 2 year in a recurring deposit account.
If rate of interest is 5% annually then how much money will be get offer 2 years




e (17) FHIHROT B DI —

sing sing
1-cos 1+cos@
Solve the equations
sing sinf

1—-cos@ 1+cos@ -
erar /OR

76 AMR @ oHR R Rerd 5 g ¥ R & RreR &1 I3 3o 30° 7|

R B 3N 30 HcY Fo W I~IT DI 45° & SaT & | 99K & s 3ird
BT |

Angle of elevation of a tower from any point of the base of the tower 1s 30°.

Moving to wards 30 meter to the tower the angle of elevation be comes 45°. Find
the height of the tower.

g2 : (18) f5dl ¥R 9ot @& p § q § r J 9&T HT ABA HE a4, b, c & T g
ﬁ%g(q—r)+§(r—p)+§(p—q)=0
Q. (18) Sum of p® , ¢, r™ terms of an AP. are a,bc respectively then prove that
2@-m I -p+ip-q) =0
a1 /OR
o T T S S e @1 A - & o W g T

. . . 61
The sum of a number and 1ts reciprocal 1s 0 find the numbers

——————— 0000000————



